Question 1

QCM Term RH N°1 : Probabilités
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On donne l'arbre pondéré ci-dessous:

Pe(F)=0,9x0,3
O

Pg(F)=0,3

O
Pe(F)=0,9+0,3
O
P:(F)=1-0.3

Question 2
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On donne l'arbre pondéré ci-dessous:

ENF)=0,940,3
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p(ENF)=0,9x0,3
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QCM Term RH N°1

: Probabilités

Question 3 /1
On donne l'arbre pondéré ci-dessous:
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P(F)=0,3+0,4
O
P(F)=0,9x0,3+0,1x04
O
P(F)=0,1x04
O
P(F)=0,9x0,3
Question 4 /1
On donne :
Ps(E)=0,04
O
Ps(E)=0,5
O
Ps(E)=0,25
O
Ps(E)=0,2
Question 5 /1
On donne:

Pz(S)=0,04
O
Pe(S)=0,5
O
Pe(5)=0,2
O

Pg(5)=0,25
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